State of Maine DEPARTMENT OF EDUCATION			
2022-23 ELEMENTARY TUITION RATES			
G	irades PreK-8		
		PreK-8	2022 - 23
	2021 - 22	Attending	Elementary
School Administrative Unit	Operating Expense	Enrollment	Tuition Rate
Acton School Department	\$3,023,933.01	\$228.50	\$13,233.84
Airline CSD	\$520,699.91	41.0	\$12,700.00
Alexander School Department	\$523,964.92	44.0	\$11,908.29
Andover Public Schools	\$569,129.71	34.5	\$16,496.51
Appleton School Department	\$1,904,917.79	118.5	\$16,075.26
Athens Public Schools	\$1,226,628.46	112.5	\$10,903.36
Auburn School Department	\$20,038,929.07	2242.5	\$8,935.98
Augusta Public Schools	\$13,489,922.15	1480.5	\$9,111.73
Baileyville School Department	\$1,578,207.34	166.0	\$9,507.27
Bangor School Department	\$23,313,766.85	2323.5	\$10,033.90
Bar Harbor School Department	\$4,841,829.99	332.0	\$14,583.83
Beals School Department	\$731,431.15	36.5	\$20,039.21
Biddeford School Department	\$16,174,586.07	1592.0	\$10,159.92
Blue Hill School Department	\$2,916,849.31	245.5	\$11,881.26
Boothbay-Boothbay Hbr CSD	\$4,417,094.15	316.5	\$13,956.06
Brewer School Department	\$8,390,554.68	910.0	\$9,220.39
Bristol School Department	\$2,574,113.42	186.0	\$13,839.32
Brooklin School Department	\$1,090,607.14	56.5	\$19,302.78
Brooksville School Department	\$1,003,744.68	54.5	\$18,417.33
Brunswick School Department	\$19,089,649.31	1631.0	\$11,704.26
Calais School Department	\$2,397,934.92	333.0	\$7,201.01
Cape Elizabeth School Department	\$15,969,953.07	945.5	\$16,890.48
Castine School Department	\$820,973.09	48.0	\$17,103.61
Caswell School Department	\$431,045.60	41.0	\$10,513.31
Charlotte School Department	\$439,982.47	25.0	\$17,599.30
Chebeague Island School Department	\$446,824.76	8.0	\$55,853.10
Cherryfield Public Schools	\$1,152,141.48	93.5	\$12,322.37
Cranberry Isles School Department	\$410,268.21	10.0	\$41,026.82
Cutler School Department	\$538,813.54	53.0	\$10,166.29
Dayton School Department	\$1,528,203.98	114.0	\$13,405.30
Dedham School Department	\$1,729,412.09	161.0	\$10,741.69
Deer Isle-Stonington CSD	\$2,438,682.09	223.0	\$10,935.79
East Machias School Department	\$1,322,280.34	176.5	\$7,491.67
East Millinocket School Department	\$1,469,278.89		\$10,570.35
East Range CSD	\$277,659.12		\$12,914.38
Easton School Department	\$1,716,434.01	155.5	\$11,038.16
Eastport School Department	\$866,461.39	78.0	\$11,108.48
Edgecomb School Department	\$1,702,376.79	118.0	\$14,426.92
Ellsworth School Department	\$7,212,927.00		\$9,478.22
Eustis Public Schools	\$1,613,869.81	96.0	\$16,811.14
Falmouth School Department	\$18,218,115.80		\$13,723.63
Fayette School Department	\$1,008,620.44		\$14,205.92
Frenchboro School Department	\$138,512.95		\$46,170.98
Georgetown School Department	\$1,245,049.74	46.5	\$26,775.26

State of Maine DEPARTMENT OF EDUCATION			
2022-23 ELEMENTARY TUITION RATES			
G	irades PreK-8		
		PreK-8	2022 - 23
	2021 - 22	Attending	Elementary
School Administrative Unit	Operating Expense	Enrollment	Tuition Rate
Glenburn Public Schools	\$4,445,536.87	360.5	\$12,331.59
Gorham School Department	\$20,795,293.21	1917.0	\$10,847.83
Great Salt Bay CSD	\$4,325,568.20	396.5	\$10,909.38
Greenbush School Department	\$1,371,217.52	164.0	\$8,361.08
Greenville School Department	\$1,790,473.28	123.5	\$14,497.76
Hancock School Department	\$2,301,154.81	212.0	\$10,854.50
Harmony School Department	\$666,301.45	58.0	\$11,487.96
Hermon School Department	\$6,467,892.86	782.0	\$8,270.96
Hope School Department	\$2,211,370.28	150.0	\$14,742.47
Indian Island	\$2,564,179.07	88.5	\$28,973.77
Indian Township	\$3,108,807.67	106.5	\$29,190.68
Isle Au Haut School Department	\$191,261.05	3.0	\$63,753.68
Islesboro School Department	\$1,150,406.06	43.0	\$26,753.63
Jefferson School Department	\$2,431,421.09	215.0	\$11,308.94
Jonesboro School Department	\$438,841.27	44.5	\$9,861.60
Jonesport School Department	\$1,343,139.03	111.0	\$12,100.35
Kittery School Department	\$8,879,405.51	673.0	\$13,193.77
Lamoine School Department	\$1,457,391.90	118.0	\$12,350.78
Lewiston School Department	\$34,008,241.58		\$9,744.48
Limestone School Department	\$1,492,026.25	136.0	\$10,970.78
Lincolnville School Department	\$2,402,816.72	202.0	\$11,895.13
Lisbon School Department	\$7,304,426.20	909.0	\$8,035.67
Long Island School Department	\$376,314.00	13.0	\$28,947.23
Machias School Department	\$2,456,824.98	336.5	\$7,301.11
Machiasport School Department	\$566,339.47	46.5	\$12,179.34
Madawaska School Department	\$3,177,283.32	264.5	\$12,012.41
Medway School Department	\$1,425,285.91	93.0	\$15,325.65
Milford School Department	\$2,576,892.55	281.0	\$9,170.44
Millinocket School Department	\$2,342,594.23	306.5	\$7,643.05
Monhegan Plt. School Department	\$136,755.96		\$39,073.13
Mount Desert School Department	\$3,206,114.58		\$22,264.68
MSAD 27	\$5,287,484.26		\$8,999.97
MSAD 46	\$4,976,477.19		\$8,902.46
MSAD 76	\$756,614.98		\$36,029.28
Nobleboro School Department	\$1,857,669.41	137.5	\$13,510.32
Northport Public Schools	\$1,635,519.45	105.0	\$15,576.38
Orrington School Department	\$3,121,496.85	344.0	\$9,074.12
Otis School Department	\$1,140,035.07	95.0	\$12,000.37
Pembroke School Department	\$841,767.88		\$12,950.28
Penobscot School Department	\$1,003,594.09	60.0	\$16,726.57
Perry School Department	\$714,235.74		\$10,821.75
Pleasant Point	\$2,878,235.59		\$19,252.41
Portland Public Schools	\$59,359,919.94		\$13,413.16
Princeton School Department	\$1,153,960.72		\$9,616.34

State of Maine DEPARTMENT OF EDUCATION			
2022-23 ELEMENTARY TUITION RATES			
	Grades PreK-8		
		PreK-8	2022 - 23
	2021 - 22	Attending	Elementary
School Administrative Unit	Operating Expense		Tuition Rate
RSU 01	\$14,578,331.81		\$12,428.25
RSU 02	\$14,856,124.68		
RSU 03/MSAD 03	\$7,863,314.25	741.5	
RSU 04	\$8,731,553.87	928.5	\$9,403.94
RSU 05	\$17,280,906.96	1400.0	
RSU 06/MSAD 06	\$23,935,252.80	2258.0	
RSU 07/MSAD 07	\$1,018,289.13	32.0	
RSU 08/MSAD 08	\$1,743,869.07	122.5	\$14,235.67
RSU 09	\$13,736,971.21	1541.0	
RSU 10	\$12,544,049.45	1197.5	
RSU 11/MSAD 11	\$12,421,578.59	1342.0	\$9,256.02
RSU 12	\$8,107,491.53	888.5	\$9,124.92
RSU 13	\$13,783,444.96	1017.5	\$13,546.38
RSU 14	\$23,472,971.10	2152.0	\$10,907.51
RSU 15/MSAD 15	\$12,693,394.23	1196.5	\$10,608.77
RSU 16	\$10,494,862.67	1185.5	\$8,852.69
RSU 17/MSAD 17	\$20,384,017.88	2153.5	\$9,465.53
RSU 18	\$20,606,919.65	1877.5	\$10,975.72
RSU 19	\$11,415,370.55	1274.0	\$8,960.26
RSU 20	\$3,978,933.42	300.0	\$13,263.11
RSU 21	\$20,776,707.14	1568.0	\$13,250.45
RSU 22	\$13,214,738.61	1450.5	\$9,110.47
RSU 23	\$6,495,984.41	435.0	\$14,933.30
RSU 24	\$6,673,775.60	509.5	\$13,098.68
RSU 25	\$6,403,768.92	708.0	\$9,044.87
RSU 26	\$5,271,041.22	449.5	\$11,726.45
RSU 28/MSAD 28	\$9,786,669.73	730.0	
RSU 29/MSAD 29	\$6,635,100.60	912.0	\$7,275.33
RSU 30/MSAD 30	\$1,966,558.65	173.0	\$11,367.39
RSU 31/MSAD 31	\$3,130,769.14	307.5	\$10,181.36
RSU 32/MSAD 32	\$2,171,385.69		
RSU 33/MSAD 33	\$1,767,139.77	169.0	\$10,456.45
RSU 34	\$8,490,036.27	896.0	\$9,475.49
RSU 35/MSAD 35	\$16,955,308.17	1437.5	\$11,795.00
RSU 37/MSAD 37	\$3,777,907.39	448.0	\$8,432.83
RSU 38	\$9,606,530.23	820.0	\$11,715.28
RSU 39	\$6,090,317.48	705.0	\$8,638.75
RSU 40/MSAD 40	\$13,991,928.56	1257.0	\$11,131.21
RSU 41/MSAD 41	\$4,536,247.04	427.5	\$10,611.10
RSU 42/MSAD 42	\$2,135,285.20	236.5	\$9,028.69
RSU 44/MSAD 44	\$5,693,209.63	499.5	\$11,397.82
RSU 45/MSAD 45	\$1,890,121.39	200.5	\$9,427.04
RSU 49/MSAD 49	\$12,732,558.43	1296.0	\$9,824.50
RSU 50	\$2,041,913.23	230.5	\$8,858.63

State of Maine DEPARTMENT OF EDUCATION			
2022-23 ELEMENTARY TUITION RATES			
G	irades PreK-8		
		PreK-8	2022 - 23
	2021 - 22	Attending	Elementary
School Administrative Unit	Operating Expense	Enrollment	Tuition Rate
RSU 51/MSAD 51	\$18,922,057.23		\$12,631.55
RSU 52/MSAD 52	\$12,452,232.96		
RSU 53/MSAD 53	\$6,694,977.71		
RSU 54/MSAD 54	\$14,088,876.47		
RSU 55/MSAD 55	\$5,536,556.51	665.5	\$8,319.39
RSU 56	\$5,085,603.16	515.0	
RSU 57/MSAD 57	\$20,072,466.25		
RSU 58/MSAD 58	\$3,709,072.12	382.0	
RSU 59/MSAD 59	\$4,822,669.07	384.0	· · · ·
RSU 60/MSAD 60	\$20,849,133.73	1989.0	
RSU 61/MSAD 61	\$11,802,666.16	1079.5	\$10,933.46
RSU 63/MSAD 63	\$4,796,496.52	441.5	
RSU 64/MSAD 64	\$6,353,433.43	721.0	\$8,811.97
RSU 65/MSAD 65	\$130,216.80	5.5	\$23,675.78
RSU 67	\$6,025,348.58	638.0	
RSU 68/MSAD 68	\$4,872,021.82	627.0	\$7,770.37
RSU 70/MSAD 70	\$2,620,147.51	340.0	\$7,706.32
RSU 71	\$10,678,000.09	937.5	\$11,389.87
RSU 72/MSAD 72	\$7,047,816.20	726.5	\$9,701.05
RSU 73	\$9,535,149.25	994.5	\$9,587.88
RSU 74/MSAD 74	\$4,717,763.64	388.0	\$12,159.18
RSU 75/MSAD 75	\$17,678,536.71	1680.5	\$10,519.81
RSU 78	\$2,267,959.60	132.0	\$17,181.51
RSU 79/MSAD 01	\$10,671,162.11	1218.5	\$8,757.62
RSU 80/MSAD 04	\$3,236,958.07	350.0	\$9,248.45
RSU 82/MSAD 12	\$1,214,962.62	92.0	\$13,206.12
RSU 83/MSAD 13	\$1,608,317.88	123.5	\$13,022.82
RSU 84/MSAD 14	\$1,169,714.56	95.0	
RSU 85/MSAD 19	\$1,252,490.76	86.5	\$14,479.66
RSU 86/MSAD 20	\$3,003,803.07	316.5	\$9,490.69
RSU 87/MSAD 23	\$5,560,888.68	588.0	\$9,457.29
RSU 88/MSAD 24	\$1,710,049.58	190.0	\$9,000.26
RSU 89	\$2,227,300.20	194.5	\$11,451.41
Saco School Department	\$21,121,920.99	1815.0	\$11,637.42
Saint George Public Schools	\$3,066,028.86	189.0	\$16,222.37
Sanford School Department	\$18,851,198.57	2064.0	\$9,133.33
Scarborough School Department	\$23,801,046.29	1960.5	\$12,140.29
Sebago Public Schools	\$1,493,230.94	117.0	\$12,762.66
Sedgwick School Department	\$1,130,736.63	78.5	\$14,404.29
South Bristol School Department	\$1,278,876.09	73.0	\$17,518.85
South Portland School Department	\$22,777,442.90	2026.5	\$11,239.79
Southport School Department	\$584,161.76	23.5	\$24,857.95
Southwest Harbor School Department	\$2,717,487.14		\$20,204.37
Surry School Department	\$1,361,353.05	146.5	\$9,292.51

State of Maine DEPARTMENT OF EDUCATION			
2022-23 ELEMENTARY TUITION RATES			
Grades PreK-8			
	2024 22	PreK-8	2022 - 23
	2021 - 22	Attending	Elementary
School Administrative Unit	Operating Expense	Enrollment	Tuition Rate
Tremont School Department	\$2,246,789.37	109.0	\$20,612.75
Trenton School Department	\$2,328,781.78	141.5	\$16,457.82
Vassalboro School Department	\$3,876,602.10	422.0	\$9,186.26
Veazie Public Schools	\$2,323,341.52	155.0	\$14,989.30
Waterville Public Schools**	\$9,889,336.31	1142.0	\$8,659.66
Wells-Ogunquit CSD	\$11,550,156.52	960.5	\$12,025.15
Wesley School Department	\$143,679.65	6.0	\$23,946.61
West Bath School Department	\$1,652,947.51	96.0	\$17,218.20
Westbrook School Department	\$17,990,464.61	1682.0	\$10,695.88
Whiting School Department	\$343,936.72	24.5	\$14,038.23
Winslow Schools	\$7,082,203.62	718.5	\$9,856.93
Winthrop Public Schools	\$5,445,402.78	609.0	\$8,941.55
Wiscasset School Department	\$3,300,959.23	279.0	\$11,831.40
Woodland School Department	\$1,254,475.57	148.0	\$8,476.19
Yarmouth Schools	\$13,914,078.59	1086.0	
York School Department	\$16,589,634.54		
Statewide Total	\$1,261,068,741.74		\$10,878.41

\*\* Excludes PreK enrollment

	Operating Expense	PreK-8 Attending Enrollment	Elementary Tuition Rate
Current Year	\$1,261,068,741.74	115,924.00	\$10,878.41
Prior Year	\$1,204,818,824.30	114,995.00	\$10,477.14
Difference	\$56,249,917.44	929.00	\$401.27
Percentage Change	4.46%	0.80%	3.69%